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	CSIT 301

Review
	Name: __________________________


Fill in the table below with the corresponding postfix.  

	Infix
	Postfix

	((4 + 5)* ( 3 + 1) + 8) * (7 + 2 * 6) 
	


((4 + 5)* ( 3 + 1) + 8) * (7 + 2 * 6)
 (4 5 + * 3 1 +  + 8) * (7 + 2 6 * )
(4 5 + * 3 1 +  + 8) * (7 + 2 6 * )
(4 5 + 3 1 + *  + 8) * 7 2 6 * + 

4 5 + 3 1 + *  8 + * 7 2 6 * + 

4 5 + 3 1 + *  8 + 7 2 6 * + * 

Express -1776.1492 as a float.  Use 1 bit for the sign, 23 bits for the mantissa, 8 bits for the exponent.  Use a bias of 128 for the exponent.   

Sign

	1


1176 ( 110 1111 0000  (12 places left = 23- 11) 

.1492 * 2^12 ( 611.1232; 611 ( 10 0110 0011  (expect 12 got 10, need two leading 0’s) 

Mantissa

	1
	1
	0
	1
	1
	1
	1
	0
	0
	0
	0.
	0
	0
	1
	0
	0
	1
	1
	0
	0
	0
	1
	1


Exponent 11+128 
	1
	0
	0
	0
	1
	0
	1
	1


Assuming a single-bit error and even parity, locate the offending bit from the following information. 
	0001
	0010
	0011
	0100
	0101
	0110
	0111
	1000
	1001
	1010
	1011
	1100
	1101
	1110
	1111

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15

	1
	1
	1
	0
	1
	1
	0
	1
	1
	0
	1
	1
	1
	0
	1


	0001
	0010
	0011
	0100
	0101
	0110
	0111
	1000
	1001
	1010
	1011
	1100
	1101
	1110
	1111

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15

	1
	1
	1
	0
	1
	1
	0
	1
	1
	0
	1
	1
	1
	0
	1


	0001
	0010
	0011
	0100
	0101
	0110
	0111
	1000
	1001
	1010
	1011
	1100
	1101
	1110
	1111

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15

	1
	1
	1
	0
	1
	1
	0
	1
	1
	0
	1
	1
	1
	0
	1


	0001
	0010
	0011
	0100
	0101
	0110
	0111
	1000
	1001
	1010
	1011
	1100
	1101
	1110
	1111

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15

	1
	1
	1
	0
	1
	1
	0
	1
	1
	0
	1
	1
	1
	0
	1


	0001
	0010
	0011
	0100
	0101
	0110
	0111
	1000
	1001
	1010
	1011
	1100
	1101
	1110
	1111

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15

	1
	1
	1
	0
	1
	1
	0
	1
	1
	0
	1
	1
	1
	0
	1


	Groups violating parity
	Position of the offending bit

	1, 2, 4
	0111 ( 7


Construct the 16's complement of the hexadecimal number 4B6.

	
	1

4
	1

B
	6

	+
	B
	4
	A

	
	0
	0
	0


Enter the binary string into the CRC generator. 

	0
	(
	0
	0
	0
	(
	
	 11001010101 (

	The first four just shift in

	1
	(
	1
	0
	0
	(
	
	1010101

	

	
	(
	
	
	
	(
	
	010101

	

	
	(
	
	
	
	(
	 
	10101

	

	
	(
	
	
	
	(
	
	0101

	

	
	(
	
	
	
	(
	
	101

	

	
	(
	
	
	
	(
	
	01

	

	
	(
	
	
	
	(
	
	1

	

	
	(
	
	
	
	(
	
	


What is the largest integer (signed) number that can be represented using 14 bits? 

	Largest 2^13 -1 
Smallest (most negative)     – 2^13 


The following program and data are stored in memory.  Determine the value in the accumulator just before executing each line. 

	Address
	Memory Value
	Value in Accumulator A before evaluating line of code

	0
	LOAD IMMEDIATE 8
	XXX

	1
	ADD  INDIRECT 7
	

	2
	ADD 6
	

	3
	STOP
	

	4
	8
	

	5
	9
	

	6
	10
	

	7
	4
	

	8
	5
	

	9
	6
	

	10
	7
	

	11
	12
	

	12
	11
	


Fill in the table below with the corresponding infix.  

	Infix
	Postfix

	
	7 1 2 + * 4 5 6 * + 3 8 + * +  


7 1 2 + * 4 5 6 * + 3 8 + * +  

7 1 + 2 * 4 5 6 * + 3 8 + * +  

7 * 1 + 2 4 5 6 * + 3 8 + * +  

7 * (1 + 2) 4 5 * 6 + 3 8 + * +  

7 * (1 + 2) 4 + 5 * 6 3 8 + * +  

7 * (1 + 2) 4 + 5 * 6 3 + 8  * +  

7 * (1 + 2) 4 + 5 * 6 * (3 + 8)  +  

7 * (1 + 2) + 4 + 5 * 6 * (3 + 8)  

Determine the Hamming-code parity bits for the following data. Assume even parity. 

	0001
	0010
	0011
	0100
	0101
	0110
	0111
	1000
	1001
	1010
	1011
	1100
	1101
	1110
	1111

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15

	
	
	0
	
	0
	1
	1
	
	1
	0
	1
	1
	1
	0
	1


Express the following float as a decimal number. Show any intermediate steps.

Sign

	1


Mantissa

	1
	1
	0
	1
	1
	0
	1
	1
	0
	1
	1
	0
	1
	1
	0
	1
	1
	0
	1
	1
	0
	1
	1


Exponent

	0
	0
	1
	0
	0
	1
	1
	1


	· (  0.85714280605316162109375 )  * 2 ^ ( -89 ) 
Exp 0010 0111  ( 39 -128 (unbias) = -89 

Mantissa ( 7,190,235 / 2^23 = 0.85714280605316162109375
· 1.3847888893681156783897949562002e-27



Interpret the following eight-bit binary string 

	1
	0
	1
	1
	0
	1
	0
	0


	A. As an unsigned integer
	180


10110100 (exchange 0’s and 1’s) 

01001011 + 1 = 100 1100 ( 76 

	B. As a signed integer
	- 76 


	C. As a hexadecimal number
	B4


Show the state of the stack at each stage of the following postfix calculation.  Use a column of the table to represent what’s on the stack at that stage.  Start at the left and proceed to the right.

4 7 6 + 8 * 2 5 + * 9 1 + * 3 * +

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	5
	
	
	
	1
	
	
	
	
	

	
	
	6
	
	8
	
	2
	2
	7
	
	9
	9
	10
	
	3
	
	

	
	7
	7
	13
	13
	104
	104
	104
	104
	728
	728
	728
	728
	7280
	7280
	21840
	

	4
	4
	4
	4
	4
	4
	4
	4
	4
	4
	4
	4
	4
	4
	4
	4
	21844


Time (
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